[ Efficiency vs vertpos |

~0.02

YT SR N - S—

@ .
D.016F+weerivee

(&)
$.014
U -
9.012H
0.01H
0.008
0.006[
0.004F
0.002

.................

(@)

+1 ]

0.80 :
1072 10

1

10 0?
TP vertr (cr%)

Efficiend

—=— DQM_TT _original
—e— DQM_TT__mod_modelsdeep_truthfinal_reg_modelTEST-24
—— DQM_TT__mod_modelsdeep_something3

~0.05

B 0
» : : : : :
Z0.04F------ AR R i P
> : : : : :
o e SRRt TS S

0.02F -
0.015F -+
0.01E |-t
0.005f-+++--+/-
0

..........................

..................................

Q N .
£0.08F -+t
o N .

0.025F--+--+5-ee-n f

..................................

1P------ XY

Ratio

0.8f------- H--H

0.6f------

10

30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n0.02r
>
£0.018F
5016}
9.014F
> -
B.012F
Ko
> F
& 0.01F
w -
0.008F
0.006F
0.004F
0.002F

i
SRR N -
--------
.................
........

......

......

......

510 15 20

Sim. PV z (cm)




	Contents
	Page 1


